ter

FARIVI EQUIPIVIENT

6200-116

ANGLED TOOTH CLOSE WHEEL KIT

2505—-206
5/16" X 17 CAR BOLT GR5 ZP

6200—348
DUST CAP, CTD #DC10
6200-347
13" ANGLED TOOTH SPOKE WHEEL

2502—-324
5/8" X 3 1/2" HHCS GR5 ZP

252 7=530
1.5 OD X 21/32" ID 3/16” TK MA BU

2965—128
HUB & BEARING ASS’Y, 4 BOLT

5?26—455
5/8" FLAT WASHER
o
A 2525 451
2 55/8 LOCK WASHER
TORQUE TO 17FT./LBS.— . 2520-452
j 5/8" HEX NUT

2520—205
5/16" LOCK HEX NUT ZP

R.H. WHEEL ASSEMBLY SHOWN

ASSEMBLY INSTRUCTIONS

STEP 1. Assemble the close wheels as right hand and left hand wheels.



ASSEMBLY INSTRUCTIONS

STEP 2. Attach the wheel assemblies to the close wheel arm. NOTE: The direction
that the spoke wheels are assembled must correspond to the side of the close wheel

arm that it is mounted to.
2520-452 — 5/8” HEX NUT

é 2525—-451 — 5/8" LOCK WASHER

6200—348 — DUST CAP
2526—455 — 5/8" FLAT WASHER 1/4" THK
(USE AS NEEDED)

L.H. WHEEL ASSEMBLY SHOWN

STEP 3. Space the wheels, using the 5/8” flat washers as needed, so that the distance
at the bottom of the wheels is approximately 2-1/4"-2-1/2".

P -
8 /83 B8

1)

1695-1

) |21/4 = 21/2

STEP 4. Adjust the close wheel spring tension as necessary. If the seed trench is not
being closed properly, increase closing wheel spring pressure. Closing wheels must not
sink into the soil too deeply, the seed placement could be adversely affected, especially
when planting shallow. If the closing wheels are applying too much pressure and the
seed is being moved by the closing wheels, decrease closing wheel pressure. Light
soils usually require less down pressure; heavy soils more down pressure. Optional
depth bands are available 2967-186.

2565-723 * 5/08



